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The figures in the margin indicate full marks
for the questions.

Q. No. 1 & Q. No. 2 carry 1 mark each 1x8 = 8
Q. No. 3 (a to j) carries 2 marks each 2x10 = 20
Q. No. 4 (a to j) carries 3 marks each (any nine) : 3x9 = 27
Q. No. 5 (a to d) carries 5 marks each (any three) ‘ 5x3 = 15

Total = 70
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(c)  Which one of the following is not a plantation crop ?

1. Choose the right answer from the four alternatives given below : 2 sebl Fafeie @Ry @ w55 957 2
oo Al iR Fes Teds A9 e Ued! AR Uleed (i) Coffee
() Which one of the following is not a push factor ? ' e
iR @HEG e IS 9= 2 | (i) Sugarcane
(1) Water shortage | TW
AT oM _ _ (iii) Wheat
(i) Medical / Educational facilities _ QR
fofewn / wiffrs A (iv) Rubber
(iii)) Unemployment | pab!
Fgfe [ | ' | (d)  In which of the following trade blocs is India an associate member ?
(iv) Epidemics ' ' | W TrEd T Sy 197 TO0T0 SRS (RGR @i 5wy 2
TR | S A (i) SAFTA ;
: | «p. 9. ¢%. 6. ¢
(b)) Which one of the following countries has the highest sex-ratio in the.
world ? @) ASEAN
RS @R ore +fRe o witiReE @b &R Sgsits g 2 Q. 5. %, 9.
() Latvia | (iii) E.U.
o | 2. 2T
i (iv) OPEC
(1) United Arab Emirates : ‘ o 4.2 B
RIS ST 9fei9rey : : : ‘
_— Answer the following questions in brief : 14
iii) Japan R
- ©eTS fiml erPTRE 5 Ul faal 8
Gl : _
_ (1)  When was the first complete population census in India conducted ?
(iv) France - ' " SRS pere ol i A R DS wiws 3y o
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(b)) What is Population Doubling Time ? [ () What is retail trading service ?
et fRwd I IEE 7 39 o Ypal PTG fF 2

What are the main factors for location of villages in desert regions ?

(c) Inwhich district of Assam Dibru-Choikhowa National Park is Iocated ? | ®
TS SRS Sl PO FPH 206 [ P SS) (Rl A 2

Tg-CRAEl G T SR (A Ree [ze 2

() Name six Administrative towns and cities of India.

(d) Name the source of river Brahmaputra.
TRAST W5l AHPIE W9 S BRI

@ A BSOS Rl
| () Name important items which India imports from different countries.

3.  Answer in brief : 2%10=20 | Siqed [ifeq (R %l SR T A4 SEAE ANANEET TN 1|

B3 Ted = ¢ . - | () Name two hilly districts of Assam.

| P ARSI e g9aT A Rl
(a) Define human geography. * | -

AT g{éﬂﬁ*‘ﬁ ges frat : | :L Answer the following questio_ns in about 100 words each :
_ Bt e ! (any nine) 3x9=27 \
thr yraphi i the distributi _ . = T
(b) Name .uee geographical factors that influence the distribution of | s ~ = 10051 1 Fosgs e g =5
population. ;

(@) Differentiate between Primary and Secondary activities.

‘ el SR fEeias S Al Bl

(0 What do you understand by population compbsiﬁon ? |

sreRall RS 2oR Rt 1 fRo SR PR 7 e |

(b)) Which are the major regions of the world having a dense network of |
air ways ? '

AT PR i ST SR AT <Y Wit ¢

G 51O JECE 6 e 2

|
(d) Write the names of four pillars of Human Development. }
i (¢)  Write different types of International trade,

N7 R 5101 3 FBF 9 7|
- | e e Rfer aeReR |
(¢) Market gardening is practised near urban areas. Why ? '
B J (d) Which are common property resources ?
R (S A (IS (TI7 G S6E AEE SR 3@ | /g 2 | SoTESRI T g R 2
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() What can be possible impacts of consumption of contaminated water

on the people ? ! (c) Describe the climate of Assam in brief.
|
|

ﬁﬁwww*w@aﬂ—ﬁiwmw N ? SRR TERIFE 9t 5 9 @l |
(/)  What is nuclear power ? Mention the important nuclear power stations (d) Mark the following places and rivers on the outline sketch map of

! India :

in India.
SIS G IS OO Al BN e TAPR I26 2

SR W & 2 ORed AARHIkS X @@ TR T T ;| |
' (i) Capital of two states :

w4 ISP S 8

() Describe the problems of slums of India.

TS ABAR FPDIE R [ |
(1) Mumbeai
(h) Describe the density of population in Assam. . %3
PP SRS T 90 | il
: i (2) Imphal
() What is the difference between pollution and pollutants ? R Be
oFel OIS AFETS A ALY 6 2 |
(i) Two rivers :
() Give an account on the Tea Industry of Assam. ' ' 7 A 2
ST B oot KA @bt ¢ ' _ ) Vo
5. Answer the following questions : (any three) ' 5x3=15 A
oot frall emeEe ©es fat ¢ (fizier fofo)) | (2) Kopili
(a) Discuss the problems associated with Urban settlement or Rural | il
settlement in developing countries. |
TTRETAE G (T IS [ Al e R T R S <pp | ;
(b) Describe the role of land transport in the economic development of | : %
India. ' _
eq AT ok %5 ARREA (@ Ao/ (R I | |
' |
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